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SECT.0.0 1.840 1.185 0.335
SECT.5.0 5.00 1.840 1.840 9.200 1.185 1.185 5.930 0.335 0.335 3.090
SECT.11.2 6.20 1.840 1.840 11.408 1.185 1.185 7.350 0.335 0.335 3.830
= i 11.20 20.608 13.280 6.920
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5.00 0.150 0.750 5.000 5.00 6.150
6.20 0.150 0.930 6.200 6.20 7.626
1.23+1.23 2.46
0.15%0.3%2+0.1*0.6
& 11.20 1.680 13.66 13.78
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SECT.0.0-3.2 0.400 0.400 0.400

SECT.0.0 3.20 0.400 0.400 1.280 0.400 0.400 1.280 0.400 0.400 1.280
SECT.0.0+3.2 3.20 0.400 0.400 1.280 0.400 0.400 1.280 0.400 0.400 1.280
SECT.20.0 16.80 0.400 0.400 6.720 0.400 0.400 6.720 0.400 0.400 6.720
ECT.20.0+9.1 9.10 0.400 0.400 3.640 0.400 0.400 3.640 0.400 0.400 3.640
= i 32.30 12.92 12.92 12.92




